70-0009
70-0063
(44-0034 ) _(31-0019

44-0022
44-0026
44-0185

35-0017
31-0014

35-0004
10-0098

70-0007

43-0000

0087 (42-0021)
- 42-0022
(70-0008)
39-0028
10-0170
43-0005
41-0018
10-0086
35-0006
31-0023
35-0017
\ 10-0068 31-0014
(31-0011) (10-0069)
41-0004
10-0102 39-0002
10-0044
10-0043
PART NoO. DESCRIPTION PART NoO. DESCRIPTION
10-0001 CAPSTAN DRUM 85 MM 35-0004 FLAT WASHER 1/2 - ZN
10-0043 SPACER FOR SAFETY LIP 35-0006 FLAT WASHER 1/4 - IN
10-0044 SAFETY LIP FOR CAPSTAN DRUM 57 MM & 85 MM 350013 FLAT WASHER 3/8 - ZN
10-0067 ADAPTOR FOR SHAFT NEMA 56 350017 LOCK WASHER 3/8 - ZN
10-0068 GUARD PLATE PCT1800-60Hz 390028 TAPPING SCREW - SLOTTED HEX WASHER HEAD -
10-0069 GUARD PLATE PCT1800-50Hz G004 TPEE 1O 1821/
:8:88;2 HANDLF@B?EE ggcnsoo 410018 THROTTLE CABLE ASSY PCT1800
420008 PLUG 15A-125V - 2 POLES - 3 PRONG -
10-0094 WINCH HANDLE SPLASHPROOF & DUST-TIGHT
10-0098 BUSHING FOR SAFETY HOOK 420019 PLUG CEE 7/7 - 250V - 16 AMP GROUNDED
100101 ROPE ENTRY PULLEY 420021 ELEC. MOTOR ;/ﬁsﬁ%?és/&r;g TS VAC-60Hz -1
10-0102 RETAINING WASHER (1/4 X 1-1/4 OD) - IN - - M
o0T03 ~OPE KEEPER 420002 ELEC. MOTOR Qﬁﬁ%ﬁé@gg Rg'f/? VAC-50Hz -1
10-0106 ROPE GUIDE FOR CAPSTAN DRUM 85 MM 43-0000 KEY FOR COUPLING SHAFT (3/16 X 3/16 X 7/8)
10-0119 SHOULDER BOLT 5/8 X 1-1/2 - IN 43-0005 KEY FOR INPUT PINION (3/16 X 1/8 X 3/4)
10-0170 CABLE HOUSING BRACKET KEY FOR CAPSTAN DRUMS 57 MM, 76 MM & 85
43-0013 MM (5/16 X 1-1/4
31-0010 HCS 1/2-13 X 6 - GR5 - IN ( -1/4)
310011 HCS 1/4-20 X 2-1/4 - GR5 - ZN 44-0019 VINYL GRIP
310014 HCS 3/8-16 X 1-1/2 - GR5 - IN 44-0022 LABEL - ROPE DANGER
310019 HCS 3/824 X 1 GRB - IN 440026 LABEL - ROPE INSTALLATION
310023 BHCS 1/428 X 1/2 ~IN 440034 LABEL - SPEED VS DRUM DIAMETER
310004 BRCS T/4.20 X 155 44-0185 LABEL - AUDITIVE PROTECTION
310095 BRCS 1/420 X 3/4- 53 70-0007 RGS - ATTACHMENT ASSEMBLY
32-0002 HEX FLANGE SERRATED BOLT M6-1 X 12 MM - ZN 70-0009 ELECTRICAL BOX ASSEMBLY (120V)
330005 NUT 172-13 NYLON 2N 70-0063 ELECTRICAL BOX ASSEMBLY (230V)
PCA-1281 SAFETY HOOK - WLL: 3/4 TON




	Sheet1
	Vue de mise en plan1


